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1 Introduction
Base on discussion in [R1-061297], we propose following response to RAN2 LS [R1-061109]. 

2 Proposed responses
In the following, text in RAN2 LS is colour in Blue
The figure below shows 5 cells operating in the same 20 MHz bandwidth. Cells A and B transmit over the full 20MHz and the other cells transmit over 10 MHz but at different positions within the 20MHz. RAN2 understands that the current status in RAN1 is that cell identification and measurements for mobility are performed on the centre 1.25 MHz of each cell, shown by the yellow region at the centre of each cell's transmission. The figure also shows the reception bandwidth of a number of UEs with 10 and 20 MHz reception capability. 
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To help RAN2's understanding of this area, we would like RAN1 and RAN4 to consider a number of questions:

1. Cell A is a 20 MHz cell. Is it possible for a UE with a 10 MHz reception capability to be placed by the network anywhere within the 20 MHz cell transmission, or will there be a limited number of possible locations within the 20MHz cell transmission (for example, limited to the 3 locations shown in the diagram as UE1, UE2, UE3)?

Answer 1: In general, it is possible to place a 10MHz UE in different places within 20MHz transmission bandwidth. However, to minimize system design complexity and associated signaling overhead, only 3 locations denoted as Camp band 1, 2 and 3 as shown in Figure below should be used for placing the 10MHz UE
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The above figure assumes numerology in the current TR 25.814 where there are total of 1201 sub-carriers available for data transmission from a BTS when the overall transmission bandwidth is 20MHz. Since sub-carrier spacing is 15kHz, the overall effective transmission bandwidth is 1200*15kHz = 18MHz.  

2. UE1 is a 10 MHz capable UE operating on a 20 MHz cell A. Is it necessary for this UE to perform measurements on cell A outside of the UEs reception bandwidth, for example to assist the network's decision where to place the UE within the 20 MHz cell transmission?

Answer 2: It could be beneficial for a 10MHz UE camping on Camp band 1, for example, to measure also channel quality on sub-carriers that the UE would receive if it camps on Camp band 2. It is because the inter cell interference condition in the DL could be quite different on different camp bands.     

3. UE4 is a 20 MHz capable UE operating on a 20 MHz cell A.

a. RAN2 assumes that it is possible to perform radio measurements on cell B without needing to interrupt reception on cell A. Is this assumption correct?

Answer 3.a: Yes it is correct

b. Is it possible for this UE to receive broadcast system information from cell B without the need to interrupt reception on cell A?

Answer 3.b: Yes it is correct

c. Is it possible for this UE to perform radio measurements on cell C without needing to interrupt active reception in cell A?

d. Is it possible for this UE to receive broadcast system information from cell C without needing to interrupt reception in cell A?

Answer 3.c and 3.d: Though it may be possible, the associated complexity of the system design and the cost of UE complexity to enable such a measurement should be carefully considered. 
e. Is it possible for this UE to perform radio measurements on cell E without needing to interrupt active reception in cell A?

Answer 3.e: Yes it is correct

f. Is it possible for this UE to receive broadcast system information from cell E without needing to interrupt reception in cell A?

Answer 3.f: Yes it is correct

4. UE5 is a 20 MHz capable UE operating on a 10 MHz cell C.

a. Is it possible for this UE to perform radio measurements on cell B without needing to interrupt reception on cell C?

b. Is it possible for this UE to receive broadcast system information from cell B without needing to interrupt reception on cell C?

c. Is it possible for this UE to perform radio measurements on cell D without the need to interrupt reception on cell C?

d. Is it possible for this UE to receive broadcast system information from cell D without the need to interrupt reception on cell C?
Answer 4: Though it may be possible, the associated complexity of the system design and the cost of UE complexity to enable such a measurement should be carefully considered. 

5. Do the answers to any of the questions above depend on whether the current serving cell and the neighboring cell are time synchronized?

Answer 5: All above answers are applicable regardless of whether neighboring cells & serving cell are time synchronized or not

6. Do the answers to any of the questions above depend on whether the distance between centre frequency of the serving cell and the neighbouring cell are spaced by an integer multiple of 15kHz?

Answer 6: All above answers are applicable only when the distance between centre frequency of the serving cell and the neighboring cell are spaced by an integer multiple of 15kHz.
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